DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

9) —926320 = 7 = 106) —214.26 = 3 =
2 35.021 =7 = 0n-43.5 + 10 =
93) 4520.8 =— & = 108) —2752.2 +9 =
9 1610.6 = 2 = 109 —247.59 = 3 =
95) 77580 = 9 — 1o 6118.2=+9 =
96 —9200.9 =5 = ) 332.9=+1=
M 3325.6 +4 = 12) 0.84 +7 =
%) —1365.6 = 2 = 13 —21010 = 10 =
0 3.273+3= ) —3360 = 7 =
100) 46452 =— 7 = 115 17168 = 8 =
oy —11734 + 2 = 1o —3820 +6 =
102) 44149 = 7 = 1un - —065.723 =7 =
103) 19722 = 6 = 1) 20744 + 8 =
101 10054 =— 2 = 119) 30648 = 6 =
105 —46410 = 6 = 1200 1781.2 =2 =

Mathematics: Division - Level 6 - Horizontal - Set 3
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